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Agenda

e Review wireless clause from 802.1AS D0.9
e Review state machines
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802.11 "Presence” Protocol
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Figure 12.2—802.11v time-synchronization interfaces
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802.11v Presence Parameters

dotll-
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BEGIN

|

INIT

Requester

currentTime-dot11ReportintervalTimer >
dot11Reportinterval

4
START_LOOP

frameCnt= dot11FramesPerChannel;
dot11ReportintervalTimer=
currentTime

currentTime()-dot11LoopTimer >
dot11InterFramelnterval SEND_REQUEST

token += 1,
dot11LoopTimer= currentTime();
PRESENCE_REQUEST .request(token
)

\

PRESENCE_REQUEST.confirm()

currentTime()-dot11LoopTimer >
dot11InterFramelnterval

WAIT_FOR_RESPONSE

PRESENCE_RESPONSE.
indication(token, t2, (t3-t2))

v

WAIT_INTERVAL SAVE TS CHECK_TOKEN
- e rxToken==token
rameCnt -= 1;
— < addTimestamps(tsArray, <« Q
t1,12,t3,t4);
frameCnt!=0 ‘ rxToken==token
frameCnt=0
TBD:

FILTER I1. What if PRESENCE_REQUEST.confirm
| never comes?
12, 802.11v doesn’t define how t1 12,t3,t4 are

offset=dot11TsFilter(tsArray); passed up to this layer




Responder

BEGIN

PRESENCE_RESPONSE.confirm()

) 4
WAIT_FOR_REQUEST

requestTime = currentTime()

PRESENCE_REQUEST.
indication(token)

1
currentTime()-dot11ResponseConfirmTimeout>
v requestTime
SEND RESPONSE

PRESENCE_RESPONSE.
request(token, t2, (t3-t2));
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Issues

*tl and t4 are not passed up from 802.11
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